Catch-Up Growth Calculations

Number Strand
um C(;:Iy ran K 1 growth 1 2 growth 2 3 growth 3 4 growth 4 5 growth 5 6 growth 6 7 growth 7 8 growth 8 9 growth 9
Total # of
otal# o 6 18 8 10 13 9 11 7 5 7
Outcomes
>=5/6 16/18 7/8 4/5 10/13 7/9 9/11 5/7 4/5 5/7
B/G Achievement
Catch-up Catch-up Catch-up Catch-up Catch-up Catch-up Catch-up Catch-up Catch-up
83% 89% 88% 80% 77% 78% 82% 71% 80% 71%
° Growth 0 Growth ° Growth 0 Growth ° Growth ° Growth ° Growth ° Growth ° Growth °
467% 13 72% J15 83% B/G |6 75% B/G [|770% B/G [969% B/G |6 67% 8 8 73% B/G |4 57% B/G [J360% B/G |4 57%
350% 12 14 78% B/G |5 63% 7 6 60% 9 8 62% 6 5 56% 7 7 64% B/G |3 43% 3 2 40% 4 3 43%
233% 10 1372% B/G |4 50% 6 550% 8 7 54% 6 4 44% 7 6 55% B/G |2 29% 3 120% 4 2 29%
117% 9 12 67% 6 3 38% 6 4 40% 8 6 46% 6 3 33% 6 5 45% 4 1 14% 3 (0] 3 1 14%
0 7 1161% 5 2 25% 5 330% 7 538% 5 2 22% 6 4 36% 4 2
10 55% 5 1 13% 4 2 20% 6 431% 5 1 11% 5 3 27% 4
NOT B/G 9 50% 5 0 4 110% 6 323% 5 0 4 2 18% 3
Achievement 8 44% 5 Io 5 215% 4 1 9% 3
7 39% 5 1 8% 4 o 3
6 33% 4 0 4
5 28% 4
4 22% 4
3 17% 4
2 11% 4
1 6% 3
0 3




